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Height of Triangles

Find the height of the following triangles (not drawn to scale).
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Answers

Find the height of the following triangles (not drawn to scale).

Area: 12 2cm

Height: 6 cm

Area: 10 2cm

Height: 4 cm

Area: 28 2cm

Height: 7 cm

Area: 6 2cm

Height: 4 cm

Area: 12 2cm

Height: 6 cm

Area: 10 2cm

Height: 4 cm

Area: 10 2cm

Height: 5 cm

Area: 15 2cm

Height: 6 cm

Area: 21 2cm

Height: 6 cm

base = 4 cm

5 cm6 cm
h

5 cm 5 cm

base = 3 cm

h

5 cm

6 cm

base = 5 cm

h

5 cm5 cm

base = 5 cm

h7 cm6 cm

base = 4 cm

h

base = 5 cm

8 cm

7 cm
h

8 cm

base = 8 cm

8 cm

h

6 cm

6 cm
h

base
 = 4 cm

7 cm
7 cm

h

base = 7 cm


